Academia Arena, 2011:3(2) http://www.sciencepub.net

21
21 21
[ .21 . Academia Arena, 2011;3(2):35-42] (ISSN 1553-992X). http://www.sciencepub.net.
! ” T, T, T3 T4 PT,
: 21 PT, PT; PT,
“ 2 P
P P
P
2002 5
70 2007
9 90
2009 11 13 3
“ n 2009
12 2010 1
10 21
1 1 ”
A B A
B “ ” 2
AB
1
AB AB B P

35



Academia Arena, 2011:3(2)

http://www.sciencepub.net

1
1
axb
a b
1
-1 1 -1
r s t
s t r i
1-1

6=2x3= 1+V-5 x 1—-5
2 3 1+V-5 1—V-5
6

36

21



Academia Arena, 2011:3(2)

http://www.sciencepub.net

1+1

37

X=+v-a,

x=-vV-a

X2+1=1

e=2

. 71828



Academia Arena, 2011:3(2)

http://www.sciencepub.net

sinz 21 sin(z+2m)=sinz
z 21 z
E(2)
P, P E(z+P1)=E(2)
E(z+P,)=E(2)
1 z (azt+b)/ cz+d) a b
cd z
F(z) Fl(az+b)/ cz+d)] = F(z)

ai b 1 C1 d 1 ao b 2 Co d 2
a b cd
z (a 1Z+b 1) /| c¢q.z+d 1)
z (azz+b 2) / C22+d 2)
| Cz+D)
Fl(@iz+bs)/ ciz+dq)] = F(2)
2z+d))] = F(2)
F[(Az+B)/ Cz+D)] = F(2)
F(2) Z - (azth)

(Az+B)

F[(a22+b 2) /| ¢

[ cz+d)

Z—»(a12+b1)/ C12+d1) Z—»(a22+b2)/ C22+d2)
a=1 b=0 c=0 d=1

Z-7Z
F(2)
2
cost
sint
P(x,y)=0
Pxy) x 'y
0,0 a X*+y?  a’
Xy t
x=acost y=asint cos t+sin’t=1
X+y? a2
21

50

20
20
200
(LH
4000

1 1984
2

20 21

1 1996

20

1968



Academia Arena, 2011:3(2)

http://www.sciencepub.net

+H m =Btos6 /(cosb +1) m =B m
+m BK Q K=Q+B
6
6
2
1995 6
21
“ n d S
d s
3

MG gnB

39

10

30

1989



Academia Arena, 2011:3(2)

http://www.sciencepub.net

137

LHC

Ea

Ea

2010

40

Ea

Ea

" Ea

2007

Ea



Academia Arena, 2011:3(2)

http://www.sciencepub.net

C MGt gn6 +H
X Y
0] G=1
no B B
X C 0]
oC
30°
60° 90°
7
4 21

41

21

21

21

2.2

11



Academia Arena, 2011:3(2)

http://www.sciencepub.net

4
25 9 1

3
21

2 1 “ ”

QCD
3
1/30/2011

10

42

21

[0 ] -

12
(210 ]

2010 11
[3]

2002 5

4]
2007 9
[5]

[6]
2008

7]
8]

2003 1
[9] 1982

2004

2003

2008

1990



